AP CarLcurLus AB Activity 1023 Name:

Dr. PAuL L. BAILEY Wednesday, October 23, 2024
Problem 1. Evaluate. Problem 2. Solve.

(a) logs 81 (a) 27576 = g12e+1l

(b) logs, 8 (b) log;zz =2

(c) log, 96 — log, 3 (c) logy(z+5) +logy(z+ 1) =3 +logy(x — 1)

1
2z+1) __
(d) logs v/625 (d) 13310770 = 121@=5)

32 16 (e) log,(z —2) +log,(z — 6) =2
(e) logyg B logyq 25



Problem 3. Solve. Problem 4. Solve.

(a) 625" 9 = 1257 (a) 2log;(z —3) = log;(z — 1)
(b) 27+ =1 (b) log,(2) + log,(z +1) =1

(c) log,(z) 4+ logg(xz) =5 (c) €** —3e® —8 =20

(d) 49+ = L (d) 2In(z) = In(z +2) + In(z + 5)
(e) log(yi1)(5z + 3) +log(, 41y T =3 (e) logs, 343 = &5

(f) logs(25z) =3 (f) 2In(z+1) =2In(3) + In(x + 5)



